
 S29-01 DRIVE SHAFT(CG-HT/PS/MC/PE)

REF. SERVICE

NUMBER CODE No.

 S29-01 DRIVE SHAFT(CG-HT/PS/MC/PE)

001 668-6000 DRIVE SHAFT B 1085L 1
002 668-9314 DRIVE SHAFT COMP 1042L 1

003 668-4831 BUSH ASS'Y 4

020 668-9360 DRIVE SHAFT 1
021 668-9146 SPACER 1
022 668-9560 FLEXIBLE LINER 1
023 668-9486 FLEXIBLE SHAFT 1
024 669-6012 DRIVE SHAFT PIPE SET 1
033 668-9302 DRIVE SHAFT PIPE COMP 742L 1
034 668-4831 BUSH ASS'Y 4
035 668-4832 DRIVE SHAFT B 783L 1
036 668-4833 BUSHING 1
037 669-7838 DRIVE SHAFT COMP 1

Q'TYDESCRIPTION
REMARKS

/SERIAL NO.

(EU/RU) - 1 - (CG-HT/PS/PE/MC)



 S29-06 GEAR CASE (CG-PE)

(EU/RU) - 6 - (CG-HT/PS/PE/MC)



REF. SERVICE

NUMBER CODE No.

 S29-06 GEAR CASE (CG-PE)

030 669-5133 NUT 8/L.H.THREAD 1

031 668-4611 BOLT WASHER M8 1

032 668-9047 CUTTER HOLDER CAP 1

033 669-0193 CUTTING BLADE,205MM 1

034 668-9024 CUTTER HOLDER 1

040 668-8746 GEAR CASE ASS'Y, SILVER 1

041 669-5295 STOP RING C-32, INNER 1

042 669-5554 BALL BEARING 6201D, 32MM/OD 1

043 668-8934 GEAR SHAFT 1

044 669-5569 BALL BEARING 628 ST 1

045 668-8870 GEAR-PINION SET, SPARE 1

046 669-5437 PLUS HEAD BOLT 8X10 1

047 668-9156 GEAR CASE WASHER 1

048 668-8745 GEAR CASE 1

049 669-5042 HEX. HOLE BOLT 5X10 1

050 668-4709 HEX.HOLE BOLT M5X25/S 1

053 668-4734 BALL BEARING 609 1

054 668-4735 BALL BEARING 609Z ST 1

055 669-5281 STOP RING C-9, OUTER 1

056 668-4732 STOP RING C-24,INNER 1

060 668-8099 LOCK HANDLE KNOB COMP. 1

071 668-4971 S.WASHER 8 1

072 668-4611 BOLT WASHER M8 1

073 668-7098 WHEEL 1

074 668-6255 COLLAR 1

075 669-0238 BLADE GUARD 1

076 668-9085 SPECIAL BOLT 1

077 669-0889 WHEEL STAY 1

078 668-4826 S.WASHER 6 2

079 669-5079 HEX HOLE BUTTON SCREW 6X15 2

080 669-0302 COVER BRACKET 1

081 669-0341 BLADE GUARD HOLDER 1

082 668-4826 S.WASHER 6 2

083 668-4825 HEX. SOCKET HD. BOLT (W/BUTTON) M6 2

088 669-1018 MUD FLAP HOLDER 1

089 669-1047 MUD FLAP 1

090 668-4667 HEX.HOLE BOLT M5X12/S 3

091 668-4979 COMBI BOX SPANNER 13X19 PLUS 1

Q'TYDESCRIPTION
REMARKS

/SERIAL NO.

(EU/RU) - 7 - (CG-HT/PS/PE/MC)




